<o @> (rad)

< 00, > (M)

<opp >0

Ratio

o
N
X
=
o
&
(=
N
X
=
o
&

F I N F b b
C : ) o
0.15f---weebeeoffe [ oo IEHF gt =0 JN1] STTERPR LN REPE SO BF 1) B SERRH SEPERRR SRPPRRS
= : ht c : :
0_1:_ .................... .................. '\? 01:_. P 1 ...............
O e R | I E R T 0.05f -+ +ierofe- § s
OF i I R 0 T T
=005 -+ ree oo 2o o111 R AT EE 01| RPN T . PR
O LERTEERY | L B2 RN {111 R AR SR —0.AF e SRk SEETTEE TERERS
=015 e rbe oo i | R =0.15F -+ ieef § EERE: ELLERE-SLEERS
PO PO O | I O 1111 11 AP o—02fee il i
| SRR R 1 R R ERRRR RN [ 111 SRS B o :
[ 14 b
o AN A e e 1K HE
o : of :

-3 -2 -1 0 1 2 3 -3 -2 -1 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO

—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBinsDC1000time_ RECO

100, T T " " T = 100

A OO @
o O O

20

RN LA RN RN LR RRRE R
N
o

RN LA RN RN LR RERE RN
-
ra
3

|
[0
o
T
|
[0
(@)
T

=
o
o

i

f

-2 -1 0 1 2 3 3 2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[V RN AR R L

N
TTTT IIII!IIII!IIII!IIII!IIII!IIII!IIII!IIII!IIII!IIII
SRR =R

R

L3 L
1 2 3
TP n (PCA to beamline)

AR
|
N



	Contents
	Page 1


